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gh ijh{kk d{k ls ÁLFkku djsaA 
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1. Which one Coalified compression 

is a best fossil type? 

(A)   Coal  

(B) Peat and Lignite  

(C) Bituminous  

(D) Anthracite 

 1. dkSu&lk ,d dks;yk;qDr laihM+u lcls 

vPNk thok’e izdkj gS\ 

(A) dks;yk  

(B) ihV vkSj fyXukbV 

(C) fcVqfeul  

(D) ,UFkzslkbV 

2. Which one condition is not 

essential for fossilization? 

(A)   Burial  

(B) Prevalence of aseptic 

conditions  

(C) Prevalence of septic 

conditions  

(D) Forest Fires  

 2. thok’ehdj.k ds fy, dkSu&lh ,d ‘krZ 

vko’;d ugha gS\ 

(A) /klu% 

(B) lM+u jksdusokyh fLFkfr;ksa dh 

O;kidrk  

(C) lsfIVd fLFkfr;ksa dh O;kidrk  

(D) taxy dh vkx 

3. Ichnology is the study of which 

fossil type? 

(A)   Sub Fossils  

(B) Nano Fossils  

(C) Non-Biogenic Fossils  

(D) Trace Fossils  

 3. bdksuksykWth fdl thok’e izdkj dk v/;;u 

gS\ 

(A) mi thok’e 

(B) uSuks thok’e 

(C) xSj&tSfod thok’e 

(D) Vªsl thok’e 
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4. The coal balls specimens are 
restricted in occurrence to which 
System Periods? 
(A)   Jurassic  
(B) Triassic  
(C) Permian  
(D) Carboniferous  

 4. dksy ckWYl ds uewus fdl flLVe vof/k esa 

gh ik, tkrs gSa\ 

(A) tqjkfld  

(B) Vªk;sfld  

(C) ifeZvu  

(D) dkcksZuhQsjl  

5. The minimum age of a fossil 

would be of how many years? 

(A)   6000 years  

(B) 10,000 years  

(C) 12,000 years  

(D) 1,00,000 years  

 5. ,d thok’e dh U;wure vk;q fdrus o”kZ dh 

gksxh\ 

(A)   6000 lky  

(B) 10,000 lky 

(C) 12,000 lky 

(D) 1,00,000 lky 

6. The System Periods ‘Jurassic’ is 

named after which ? 

(A)   Celtic Tribe  

(B) A place  

(C) A mountain  

(D) An Ancient kingdom 

 6. flLVe ihfj;M~l *tqjkfld* dk uke fdl 

vk/kkj ij j[kk x;k gS\ 

(A) lsfYVd tutkfr  

(B) ,d LFkku  

(C) ,d ioZr  

(D) ,d izkphu lkezkT;  

7. In the most recent ‘Geological 

Time Scale’ the Era Cenozoic has 

been divided in to how many 

System Periods? 

(A)   2 

(B) 3 

(C) 4 

(D) 5 

 7. lcls gky ds *HkwoSKkfud le; iSekus* esa ;qx 

lsukst+ksbd dks fdrus flLVe dky esa 

foHkkftr fd;k x;k gS\ 

(A) 2 

(B) 3 

(C) 4 

(D) 5 
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8. The Era Palaeozoic has been 
divided into how many Periods? 
(A)   5 
(B) 6 
(C) 7 
(D) 8 

 8. ;qx iqjkik”kk.k dky dks fdrus dky[kaMksa esa 

foHkkftr fd;k x;k gS\ 

(A)   5 
(B) 6 
(C) 7 
(D) 8 

9. The classification of 
Gymnosperms as proposed by 
Sahni (1922) was principally based 
in which character? 
(A)   Position of leaves  
(B) Stems branching  
(C) Wood structures  
(D) Position of ovules  

 9. Lkkguh ¼1922½ }kjk izLrkfor ftEuksLieksZa dk 

oxhZdj.k eq[;r% fdl y{k.k ij vk/kkfjr 

Fkk\  

(A) ifŸk;ksa dh fLFkfr 

(B) ruk ‘kk[kkvksa dk caVuk  

(C) ydM+h dh lajpuk,a 

(D) chtkaM dh fLFkfr  

10. According to modern 

classifications the Bennettitales are 

merged in which order? 

(A)   Cycadeoidales  

(B) Cycadales  

(C) Caytoniales  

(D) Glossopteridales  

 10. vk/kqfud oxhZdj.kksa ds vuqlkj csusfVVsYl dks 

fdl x.k esa feyk fn;k gS\ 

(A) lkbdsMksbMyl  

(B) lkbdkMsYl 

(C) dsVksfu;yl  

(D) XykslksIVfjMsysl  

11. Which geological duration is the 

zenith of Cordaitales? 

(A)   Upper Devonian  

(B) Lower Carboniferous  

(C) Upper Carboniferous  

(D) Lower Permian  

 11. dkSu&lh HkwoSKkfud vof/k dkWfMZVsYl dh 

pje gS\ 

(A) Åijh Msoksfu;u 

(B) fupyk dkcksZfuQsjl  

(C) Åijh dkcksZfuQsjl 

(D) fupyk ifeZ;u  
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12. Which one is a major difference 

between plants of 

Williamsoniaceace and 

Cycadeoidaceae? 

(A)   Leaves  

(B) Trunk shape  

(C) Ovules  

(D) Strobilus  

 12. fofy;elksfu,slh vkSj lkbdSMks,Mslh ds ikS/kksa 

ds chp dkSu&lk ,d izeq[k varj gS\ 

(A) ifŸk;k¡  

(B) Vªad vkdkj  

(C) chtk.kq 

(D) LVªksfcyl  

13. Which one is not a function of 

Pinus stem? 

(A)   Conduction of water  

(B) Storage region  

(C) Enhancing the photosynthetic 

area  

(D) Enhancing the reproductive 

capacities  

 13. dkSu&lk ,d ikbul ruk dk dk;Z ugha\ 

(A) ikuh dk lapkyu 

(B) HkaMkj.k {ks= 

(C) izdk’k la’ys”kd {ks= dks c<+kuk  

(D) iztuu {kerk esa òf) 

14. The distribution of which genus is 

majorly restricted in the Northern 

Hemisphere of the globe? 

(A)   Cycas  

(B) Pinus  

(C) Ephedra  

(D) None of these  

 14. fo'o ds mŸkjh xksyk/kZ esa fdl thul dk 

forj.k izeq[k :i ls lhfer gS\ 

(A) lkbdl  

(B) ikbul  

(C) ,QsMªk  

(D) buesa ls dksbZ ugha  
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15. Which one character strongly 

indicate that Cycas is a living 

fossil? 

(A)   Archegonia  

(B) Flagellated Sperms  

(C) Female Cone  

(D) Compound Leaves  

 15. dkSu&lk ,d y{k.k ǹ<+rk ls bafxr djrk gS 

fd lkbdl ,d thfor thok’e gS\ 

(A) vkdZxksfu;k  

(B) /otkafdr ‘kqØk.kq 

(C) eknk ‘kadq  

(D) ;kSfxd ifŸk;ka 

16. Compound seed cones are found in 

which genus? 

(A)   Cycas  

(B) Pinus  

(C) Ephedra  

(D) Ginkgo  

 16. lekl cht ‘kadq fdl oa’k esa ik, tkrs gSa\ 

(A) lkbdl  

(B) ikbul  

(C) ,QsMªk  

(D) ftUdxks 

17. In which genus, the aerial stem is 

Photosynthetic? 

(A)   Cycas  

(B) Pinus  

(C) Ephedra  

(D) Ginkgo  

 17. fdl oa’k esa gokbZ ruk izdk’k la’ys”kd gS\ 

(A) lkbdl  

(B) ikbul  

(C) ,QsMªk  

(D) ftUdxks 

18. Single veined leaves are present in 

which genus? 

(A)   Cycas  

(B) Pinus  

(C) Ephedra  

(D) Ginkgo  

 18. ,dy f’kjk okyh ifŸk;k¡ fdl oa’k esa ikbZ 

tkrh gS\ 

(A) lkbdl  

(B) ikbul 

(C) ,QsMªk  

(D) ftUdxks 
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19. The leaf trace in Cycas is made up 

of which? 

(A)   Direct Trace  

(B) Girdle Trace  

(C) Independent  

(D) Both, Direct and Girdle trace  

 19. lkbdl esa yhQ Vªsl fdlls cuk gksrk gS\ 

(A) Mk;jsDV Vªsl  

(B) dj/kuh Vªsl  

(C) Lora=  

(D) nksuksa] Mk;jsDV vkSj xMZy Vªsl  

20. In which type of section of wood, 

the cross field is seen? 

(A)   T. S. 

(B) L. S. 

(C) T. L. S. 

(D) R. L. S.  

 20. ydM+h ds fdl izdkj ds [kaM esa ØkWl QhYM 

ns[kk tkrk gS\  

(A) VhŒ ,lŒ 

(B) ,yŒ ,lŒ 

(C) VhŒ ,yŒ ,lŒ 

(D) vkjŒ ,yŒ ,lŒ 

21. What is the Ploidal status of 

endosperm formed in Pinus? 

(A)   Haploid  

(B) Diploid  

(C) Triploid  

(D) Tetraploid  

 21. ikbu,l esa cuus okys Hkzw.kiks”k dh IyksbMy 

fLFkfr D;k gksrh gS\ 

(A) vxqf.kr  

(B) f}xqf.kr  

(C) fVªiyksbM 

(D) VsVªkIyksbM 

22. ‘Serotiny’ is a ………. induced 

seed release. 

(A)   Fire  

(B) Water  

(C) Moisture  

(D) Wind  

 22. *lsjksfVuh* ,d ---------------izsfjr cht foekspuA 

(A) vkx 

(B) ikuh  

(C) ueh  

(D) gok 
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23. Wood of Gymnosperms are 

collectively called as ‘soft wood’, 

it is mainly because of ? 

(A)   Lack of vessels  

(B) Timber trade   

(C) Pycnoxylic  

(D) Soft in nature 

 23. ftEuksLieZ dh ydM+h dks lkewfgd :i ls 

*uje ydM+h* dgk tkrk gS] bldk eq[; 

dkj.k gS\ 

(A) oslsYl dh deh  

(B) bekjrh ydM+h dk O;kikj  

(C) ikbDuksfDlfyd  

(D) iz—fr esa uje  

24. Mormon tea is obtained from 

which plants? 

(A)   Cycas 

(B) Pinus  

(C) Ephedra  

(D) Ginkgo  

 24. ekWeZu pk; fdl ikS/ks ls izkIr dh tkrh gS\ 

(A) lkbdl  

(B) ikbul  

(C) ,QsMªk  

(D) ftUdxks 

25. In the ‘Acrogymnospermae’ which 

order is not included? 

(A)   Cycadeoidales  

(B) Caytoniales  

(C) Glossopteridales  

(D) Pteridospermales  

 25. *,ØksfteuksLiekZbZ* esa dkSu&lk x.k lfEefyr 

ugha gS\ 

(A) lkbdsMksbMyl  

(B) dsVksfu;yl 

(C) XykslksIVfjMsysl  

(D) VsfjMksLieZysl  

26. The dimorphic leaves are found in 

which genus? 

(A)   Lycopodium  

(B) Azolla  

(C) Equisetum  

(D) Selaginella  

 26. f}:ih ifŸk;k¡ fdl oa’k esa ikbZ tkrh gS\ 

(A) ykbZdksiksfM;e  

(B) vt+ksyk 

(C) bfDolsVe  

(D) lsykftusyk  
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27. ‘Tubers’ are frequently found in 

which genus? 

(A)   Lycopodium  

(B) Azolla  

(C) Equisetum  

(D) Selaginella  

 27. *dan* izk;% fdl oa’k esa ik, tkrs gSa\ 

(A) ykbZdksiksfM;e  

(B) vt+ksyk 

(C) bfDolsVe  

(D) lsykftusyk  

28. The Actino-Plectostele is found in 

the stem of which species ? 

(A)   Lycopodium annotinum  

(B) Lycopodium clavatum  

(C) Lycopodium selago 

(D) Lycopodium cernum  

 28. ,fDVuks&IySDVks fdl iztkfr ds rus esa ik;k 

tkrk gS\ 

(A) YkkbdksiksfM;e ,uksfVue  

(B) ykbdksiksfM;e DySokVe  

(C) ykbdksiksfM;e lsykxks  

(D) ykbdksiksfM;e lsuZe  

29. Term ‘Ptyxis’refers to which? 

(A)   Venation  

(B) Vernation  

(C) Anastomosis  

(D) Branching  

 29. Rkduhdh ‘kCn ^VsfDll* fdlls lacaf/kr gS\ 

(A) osuS’ku  

(B) ousZ’ku  

(C) lfEeyu  

(D) ‘kk[kk fuekZ.k  

30. According to PPG, family of the 

genus Azolla is : 

(A)   Azollaceae  

(B) Salviniaceae  

(C) Marsileaceae  

(D) Hydropteridaceae  

 30. ihihth ds vuqlkj] thul ,tksyk dk 

ifjokj gS% 

(A) ,t+ksyslh  

(B) lkfYofu;klh 

(C) ekflZyslh  

(D) gkbMªksIVsfjMslh  
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31. Which species of Azolla is most 

frequently found in India? 

(A)   Azolla microphylla  

(B) Azolla filiculoides  

(C) Azolla pinnata  

(D) Azolla indica  

 31. ,tksyk dh dkSu&lh iztkfr Hkkjr esa lcls 

vf/kd ikbZ tkrh gS\ 

(A) ,tksyk ekbØksfQyk  

(B) ,tksyk fQfydqyksbM~l 

(C) ,tksyk fiUukVk  

(D) ,tksyk bafMdk  

32. Stem Protoxylem Exarch is seen 

which genus? 

(A)   Lycopodium 

(B) Azolla 

(C) Equisetum  

(D) None of these  

 32. ruk izksVkstkbye ,DlkpZ fdl oa’k esa ik;k 

tkrk gS\ 

(A) YkkbdksiksfM;e  

(B) vt+ksyk  

(C) bfDolsVe  

(D) buesa ls dksbZ ugha  

33. Which one species of Selaginella 

shows one functional megaspore in 

its Megasporangium? 

(A)   Selaginella Tenera  

(B) Selaginella Selaginoides  

(C) Selaginella Kraussiana  

(D) Selaginella Rupestris  

 33. lsykftusyk dh dkSu&lh ,d iztkfr vius 

esxkLiksjaSfx;e esa ,d dk;kZRed esxkLiksj 

fn[kkrh gS\ 

(A) lsykftusyk Vsusjk  

(B) lsykftusyk lsykfxuksbM~l 

(C) lsykftusyk Øwfl;kuk  

(D) lsykftusyk :isfLVªl  

34. Which plant group shows two 

distinct plants of the same 

individual? 

(A)   Algae  

(B) Bryophyte  

(C) Pteridophyte  

(D) Gymnosperm  

 34. dkSu&lk ikS/kk lewg ,d gh bdkbZ ds nks 

vyx&vyx ikS/kksa dks n’kkZrk gS\ 

(A) ‘kSoky  

(B) czk;ksQkbVk 

(C) VsfjMksQkbV 

(D) vukòrchth  
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35. Rhynia is a which type of fossil? 

(A)   Cast  

(B) Compression  

(C) Impression  

(D) Petrification  

 35. jkbfu;k fdl izdkj dk thok’e gS\ 

(A) <kyuk  

(B) laihM+u 

(C) Nki  

(D) v’ehHkwr  

36. By which reason the name of 

Rhynia major has been changed to 

Aglaophyton major? 

(A)   Absence of Tracheids  

(B) Absence of Roots  

(C) Absence of Leaves  

(D) Absence of Strobilus  

 36. fdl dkj.k ls jkbfu;k estj dk uke 

cnydj ,XyksQkbVu estj dj fn;k x;k 

gS\ 

(A) VªsfdM~l dh vuqifLFkfr  

(B) tM+ksa dh vuqifLFkfr  

(C) iŸkksa dh vuqifLFkfr  

(D) LVªksfcyl dh vuqifLFkfr  

37. Which tissue for the first time 

formed in Pteridophytes? 

(A)   Parenchyma  

(B) Sclerenchyma  

(C) Stomates  

(D) Cuticle  

 37. VsfjMksQkbV~l esa igyh ckj fdl Ård dk 

fuekZ.k gqvk\ 

(A) iSjsUdkbek  

(B) LDysjsudkbek  

(C) LVksesV~l  

(D) dqV~Vhdky  

38. Which one is not a part of stele? 

(A)   Primary xylem  

(B) Primary phloem  

(C) Secondary xylem  

(D) Pericycle  

 38. dkSu&lk LVhy dk fgLlk ugha gS\ 

(A) izkFkfed tkbye  

(B) izkFkfed ¶yks,e  

(C) ek/;fed tkbye  

(D) isjhlkbfdy  
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39. The graduate mode of spores 

maturation is seen which genus? 

(A)   Riccia  

(B) Marchantia  

(C) Anthoceros  

(D) Funaria  

 39. chtk.kqvksa dh ifjiDork dh Lukrd fo/kk 

fdl thul esa ns[kh tkrh gS\ 

(A) fjfDl;k 

(B) ekdsZafl;k 

(C) ,aFkkslsjksl  

(D) Qqusfj;k  

40. Which bryophyte is useful in 

surgery?  

(A)   Sphagnum  

(B) Marchantia  

(C) Anthoceros  

(D) Funaria  

 40. ‘kY; fpfdRlk esa dkSu&lk czk;ksQkbV 

mi;ksxh gS\ 

(A) LQsXue 

(B) ekdsZafl;k  

(C) ,aFkkslsjksl 

(D) Qqusfj;k  

41. Single plastids with pyrenoids is 

found in the thallus of which 

genus? 

(A)   Riccia  

(B) Marchantia  

(C) Anthoceros  

(D) Funaria 

 41. ikbjsuksbM~l okys flaxy IykfLVM~l fdl 

thul ds FkSyl esa ik, tkrs gSa\ 

(A) fjfDl;k  

(B) ekdsZafl;k 

(C) ,aFkkslsjksl  

(D) Qqusfj;k 

42. In which genus stomates present 

only on sporophyte? 

(A)   Riccia  

(B) Marchantia  

(C) Anthoceros  

(D) Funaria  

 42. fdl thul esa LVksesV~l dsoy LiksjksQkbV 

ij ekStwn gksrs gSa\ 

(A) fjfDl;k  

(B) ekdsZafl;k 

(C) ,aFkkslsjksl  

(D) Qqusfj;k  
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43. Bryophytes growing on rocks are 

termed what? 

(A)   Rupicolous  

(B) Corticolous  

(C) Saxicolous  

(D) Lignicolous  

 43. pV~Vkuksa ij mxus okys czk;ksQkbV~l dks D;k 

dgk tkrk gS\ 

(A) :ihdksyl 

(B) dkWfVZdksyl  

(C) lSDlhdksyl  

(D) fyfXudksyl  

44. Leptomes are seen in which 

genus? 

(A)   Riccia 

(B) Marchantia  

(C) Anthoceros  

(D) Funaria  

 44. ysIVksEl fdl thul esa ik, tkrs gSa\ 

(A) fjfDl;k  

(B) ekdsZafl;k  

(C) ,aFkkslsjksl  

(D) Qqusfj;k  

45. Mosses have originated from 

which geological System Period? 

(A)   Ordovician  

(B) Silurian  

(C) Devonian  

(D) Permian  

 45. ekWl dh mRifŸk fdl HkwoSKkfud iz.kkyh 

dky ls gqbZ gS\ 

(A) vkWMksZfof’k;u 

(B) flyqfj;u 

(C) Msoksfu;u 

(D) ifeZvu  

46. The ‘calyptra’ in mosses is 

originated form which part? 

(A)   Antheridium  

(B) Archegonium  

(C) Embryo  

(D) Capsule  

 46. ekWl esa *dSfyIVªk* dh mRifŸk fdl Hkkx ls 

gqbZ gS\ 

(A) ,FksfjfM;e  

(B) vkdZxksfu;e  

(C) Hkwz.k  

(D) dSIlwy 
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47. Which is the function of oil bodies 

present in the thallus of 

liverworts? 

(A)   Storage  

(B) Fertilization  

(C) Resurrection  

(D) Protection  

 47. fyojokWV~Zl ds FkSyl esa ekStwn rsy fudk;ksa 

dk D;k dk;Z gS\ 

(A) HkaMkj.k 

(B) fu”kspu 

(C) iqu:Tthoku  

(D) lqj{kk  

48. Thenutritionally independent 

sporophyte is found in which 

genus? 

(A)   Riccia 

(B) Marchantia 

(C) Anthoceros  

(D) Funaria  

 48. iks"k.k dh ǹf”V ls Lora= LiksjksQkbV fdl 

thul esa ik;k tkrk gS\ 

(A) fjfDl;k  

(B) ekdsZafl;k  

(C) ,aFkkslsjksl  

(D) Qqusfj;k  

49. In the modern systems of 

classifications, Bryophyta is 

divided into how many divisions? 

(A)   1 

(B) 2 

(C) 3 

(D) 4 

 49. oxhZdj.k dh vk/kqfud iz.kkfy;ksa esa 

czk;ksQkbVk dks fdrus Hkkxksa esa ck¡Vk x;k gS\ 

(A)  1 

(B) 2 

(C) 3 

(D) 4 

50. Which one is not a synonym of 

Bryophytes? 

(A) Monosporangiate Plants 

(B) Vascular Archegoniate  

(C) Non-Vascular Land Plants  

(D) The First Embryophytes 

 50. dkSu&lk czk;ksQkbV~l dk lekukFkhZ ugha gS\ 

(A) eksuksLiksjSafx,V ikS/ks 

(B) laoguh vkdZxksfu,V 

(C) xSj&laoguh Hkwfe ikS/ks 

(D) igyk Hkzw.k ikni 
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51. The smooth sculpturing of pollen 

refers to which term? 

(A)   Levigate  

(B) Clavate  

(C) Retate  

(D) Verrucate  

 51. ijkx dh fpduh vaydj.k dks fdl ‘kCn ls 

lanfHkZr djrh gS\ 

(A) ysfoxsV 

(B) DysosV 

(C) fjVsV 

(D) os:dsV 

52. Exine of pollen is divided into how 

many layers?  

(A)   1 

(B) 2 

(C) 3 

(D) 4 

 52. ijkx ds ,Dlhu dks fdruh ijrksa esa ckaVk 

x;k gS\ 

(A) 1 

(B) 2 

(C) 3 

(D) 4 

53. Melittopalynology refers to the 

study pollen from which source? 

(A)   Honey 

(B) Air  

(C) Coal  

(D) Sea  

 53. esfyVksiSfyuksykWth v/;;u ijkx dks fdl 

lzksr ls lanfHkZr djrk gS\ 

(A) ‘kgn  

(B) ok;q 

(C) dks;yk 

(D) leqnz 

54. What is called to the unfused 

pollen? 

(A)   Monad  

(B) Dyad  

(C) Tetrad  

(D) Polyad  

 54. fcuktwM+s gq,s ijkxd.k dks D;k dgrs gSa\ 

(A) eksukM 

(B) M;M 

(C) VsVªkM 

(D) ikWfy;kM 
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55. How many types of pollen polarity 

exist in pollen grains? 

(A)   1 

(B) 2 

(C) 3 

(D) 4 

 55. ijkxd.kksa essa fdrus izdkj ds ijkx iksykjhVh 

ik, tkrs gSa\ 

(A)   1 

(B) 2 

(C) 3 

(D) 4 

56. The tricolpate pollens are 

characteristic feature of which 

group of plants? 

(A)   Magnoliids  

(B) Amborellales  

(C) Monocots  

(D) Eudicots  

 56. VªkbdksyisV ijkx ikS/kksa ds fdl lewg dh 

fo’ks”krk gS\ 

(A) eSXuksyhM~l 

(B) vacksjsysysl 

(C) ,dchth;  

(D) ;wfMdksV~l  

57. An elongate aperture that cantered 

usually at a distal pole is termed as 

what? 

(A)   Colpus  

(B) Porus  

(C) Sulcus  

(D) Ulcus 

 57. ,d foLrr̀ fNnz tks vkerkSj ij ,d nwjLFk 

/kqzo ij dsfUnzr gksrk gS mls D;k dgk tkrk 

gS\ 

(A) dksyil  

(B) iksjl  

(C) lqydkl  

(D) mYdl  
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58. The size of typical pollen grains 

ranges in between……… ݉ߤ in 

diameter. 

(A)   5-24 

(B) 25-50 

(C) 51-74 

(D) 75-100 

 58. fof'k”V ijkxd.kksa dk vkdkj----------------E;w ,e 

O;kl ds chp gksrk gSA 

(A)   5-24 

(B) 25-50 

(C) 51-74 

(D) 75-100 

59. If the P/E ratio is 1, then the shape 

of pollen would be what? 

(A)   Prolate  

(B) Oblate  

(C) Spheroidal  

(D) None of these 

 59. ;fn ih@b vuqikr 1 gS] rks ijkx dk 

vkdkj D;k gksxk\ 

(A) izvksysV 

(B) vkscysV 

(C) xksykdkj  

(D) buesa ls dksbZ ugha  

60. Spores of which plant is termed as 

‘Vegetable Sulphur’ and used 

medicinally for disorders of 

stomach? 

(A)   Lycopodium 

(B) Adiantum 

(C) Cycas 

(D) Typha  

 60. fdl ikS/ks ds chtk.kqvksa dks *ouLifr lYQj* 

dgk tkrk gS vkSj isV ds fodkjksa ds fy, 

vkS”k/kh; :i ls mi;ksx fd;k tkrk gS\ 

(A) ykbZdksiksfM;e  

(B) ,fM;aVe 

(C) lkbdl  

(D) VkbQk 
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61. Pollen wall structures is studied by 

which method? 

(A)   Hydrolysis  

(B) Acetolysis  

(C) SEM 

(D) Maceration  

 61. ijkx nhokj dh lajpukvksa dk v/;;u fdl 

fof/k }kjk fd;k tkrk gS\ 

(A) gkbMªksfyfll 

(B) ,lhVksfyfll 

(C) lse 

(D) eSljs’ku  

62. If a pore is occurring at the pole of 

a pollen grain, than it is termed 

what? 

(A)   Colpus 

(B) Porus 

(C) Sulcus  

(D) Ulcus  

 62. ;fn ijkxd.k ds /kqzo ij fNnz gks rks mls 

D;k dgrs gSa\ 

(A) dksyil  

(B) iksjl  

(C) lqydkl  

(D) mYdl  

63. The third mitosis takes place in 

which type of mega 

gametogenesis? 

(A)   Polygonum type  

(B)  Oenothera type 

(C) Allium type 

(D) Drusa type  

 63. rhljk lelw=h foHkktu fdl izdkj ds 

;qXedtuu esa gksrk gS\ 

(A) ikWyhxksue izdkj  

(B) vks,uksFksjk izdkj  

(C) ,fy;e izdkj  

(D) Mªwlk izdkj  

64. Therophily is a type of pollination 

which done by whom? 

(A)   Bats 

(B) Moths  

(C) Lemurs  

(D) Snails  

 64. FksjksfQyh ,d izdkj dk ijkx.k gS tks 

fdlds }kjk fd;k tkrk gS\ 

(A) pexknM+ 

(B) ekSFl  

(C) yhej  

(D) ?kksa?ks 
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65. Ombrophily is done by which 

factor? 

(A)   Water  

(B) Rain  

(C) Flood  

(D) Cloud 

 65. vksEczksfQyh fdl dkjd }kjk fd;k tkrk gS\ 

(A) ikuh  

(B) o”kkZ 

(C) ck<+ 

(D) ckny  

66. Pollination done by bats is termed 

as what? 

(A)   Ornithophily  

(B) Myiophily 

(C) Psychophily  

(D) Cheiropterophily  

 66. pexknM+ }kjk fd;k x;k ijkx.k D;k 

dgykrk gS\ 

(A) vkWfuZFkksfQyh  

(B) ek;ksfQyh  

(C) lkbdksfQyh  

(D) ph;jksIVjksfQyh  

67. A reflexed outgrowth formed by 

the tip of outer integument is 

termed as what? 

(A)   Aril  

(B) Caruncle  

(C) Elaiosome  

(D) Operculam  

 67. cká iw.kkZad dh uksd ls cuus okyh izfrofrZr 

òf) dks D;k dgrs gSa\ 

(A) ,fjy 

(B) d:udy  

(C) ,yk;kslkse  

(D) vkWijsdqye  

68. The unreduced embryo develops 

from a generative cell is termed as 

what? 

(A)   Adventive Embryony  

(B) Diplospory  

(C) Apospory  

(D) Parthenogenesis  

 68. tuu dksf’kdk ls vfodflr Hkwz.k dk fodkl 

D;k dgykrk gS\ 

(A) ,MosafVo ,fEcz;ksuh  

(B) fMIyksLiksfj  

(C) ,iksLiksjh 

(D) ikFksZukstsuslhl  
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69. Meiosis is taking place in which 

process? 

(A)   Mega sporogenesis  

(B) Mega gametogenesis  

(C) Micro gametogenesis  

(D) In all  

 69. v/kZlw=hfoHkktu fdl izfØ;k esa gksrk gS\ 

(A) esxk chtk.kqtuu 

(B) esxk ;qXedtuu 

(C) lw{e ;qXedtuu 

(D) lHkh esa  

70. Which one is not present in dicots 

seed embryo? 

(A)   Epicotyl 

(B) Hypocotyl 

(C) Coleoptile  

(D) Radicle  

 70. f}chti=h cht Hkwz.k esa dkSu&lk ugha ik;k 

tkrk gS\ 

(A) ,fidksVksby  

(B) gkbiksdksfVy  

(C) dksyksIVkby 

(D) jsfMdy  

71. Term ‘Hypotropous’ is indicative 

of which? 

(A)   Ovule type  

(B) Ovule position  

(C) Ovule development  

(D) Nucellus type  

 71. *gkbiksVªksil* ‘kCn fdldk lwpd gS\ 

(A) chtkaM izdkj  

(B) chtkaM LFkku 

(C) chtkaM fodkl  

(D) U;qdsyl izdkj 

72. How many types of ovules 

Micropyle are found in 

Angiosperms? 

(A)   1 

(B) 2 

(C) 3 

(D) 4 

 72. ,aft;ksLieZ esa fdrus izdkj ds chtkaM 

ekbØksikby ik, tkrs gSa\ 

(A) 1 

(B) 2 

(C) 3 

(D) 4 
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73. In majority of Angiosperms, the 

Anther is …….. 

(A)   Monothecal  

(B) Dithecal  

(C) Trithecal  

(D) Tetrathecal  

 73. vf/kdka’k ,aft;ksLieZ esa] ,aFkj gksrk gS--------------- 

(A) eksuksFksdy  

(B) fMFksdy  

(C) fVªFksdy  

(D) VsVªkFksdy  

74. How many types of anther wall 

development found in 

Angiosperms? 

(A)   1 

(B) 2 

(C) 3 

(D) 4 

 74. vkòrchth esa fdrus izdkj ds ijkxdks’k dk 

fodkl ik;k tkrk gS\ 

(A)   1 

(B) 2 

(C) 3 

(D) 4 

75. Which ovule is common in 

Angiosperms? 

(A)   Orthotropous  

(B) Anatropous  

(C) Amphitropous  

(D) Hemianatropous  

 75. ,aft;ksLieZ esa dkSu&lk chtkaM vke gS\ 

(A) vkWFkksZVªksil  

(B) vukVªksil 

(C) ,EQhVªksil  

(D) gsfe;kusVªksil  

76. The Protoxylem is identified by 

which type of tracheid? 

(A)   Spiral  

(B) Reticulate  

(C) Scalariform  

(D) Pitted  

 76. izksVksDlkbye dh igpku fdl izdkj ds 

VªsfdM }kjk dh tkrh gS\ 

(A) dqaMyh  

(B) tfydkor  

(C) LdsykfjQkWeZ  

(D) fiVsM 
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77. A monocot roots is identified by 
the presence of which character? 
(A)   2-6 Protoxylem groups  
(B) Lateral roots  
(C) Cambium ring  
(D) Large and well-developed 

pith 

 77. ,dchti=h tM+ksa dh igpku fdl o.kZ dh 

mifLFkfr ls gksrh gS\ 

(A) 2-6 izksVksDlkbye lewg  

(B) ik’oZ tM+sa 

(C) dSfEc;e fjax  

(D) cM+h vkSj vPNh rjg ls fodflr 

eTtk  

78. According to Histogen theory, the 

vascular cylinder in roots is 

originated from which initial cells? 

(A)   Dermatogen  

(B) Plerome  

(C) Periblem  

(D) Calyptrogen  

 78. fgLVkstu fl)kUr ds vuqlkj] tM+ksa esa 

laoguh flysMj dh mRifŸk fdl izkjafHkd 

dksf’kdkvksa ls gksrh gS\ 

(A) nkjesVkstsu  

(B) Iysjkse  

(C) isjhCyse 

(D) dSyhIVªkstu  

79. Which one is not both cell and 

tissue? 

(A)   Parenchyma  

(B) Collenchyma  

(C) Sclerenchyma  

(D) Epidermis  

 79. dkSu&lk dksf’kdk vkSj Ård nksuksa ugha gS\ 

(A) iSjsUdkbek  

(B) dksysudkbek  

(C) LDysjsudkbek  

(D) ,fiMfeZl  

80. During secondary growth, the first 

cells formed by vascular cambium 

is? 

(A)   1° Xylem 

(B) 2° Xylem  

(C) 1° Phloem  

(D) 2°Phloem  

 80. f}rh;d òf) ds nkSjku laoguh dSfEc;e 

}kjk fufeZr izFke dkssf’kdk gS\ 

(A) 1°tkbye  

(B) 2° tkbye  

(C) 1°¶yks,e 

(D) 2°¶yks,e 
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81. Which cell type is dead at 

maturity? 

(A)   Parenchyma  

(B) Collenchyma 

(C) Sclerenchyma  

(D) Associate cells  

 81. dkSu&lk dksf’kdk izdkj ifjiDork ds le; 

er̀ gks tkrk gS\ 

(A) iSjsUdkbek  

(B) dksysudkbek  

(C) LDysjsudkbek  

(D) lg;ksxh dksf’kdk,a 

82. Phloem Wadges are seen in the 

stem anatomy which genus? 

(A)   Dracaena  

(B) Nyctanthus  

(C) Bignonia  

(D) Boerhaavia  

 82. ¶yks,e ostst LVse ,ukVkWeh esa fdl thul 

esa ns[ks tkrs gSa\ 

(A) nszlhuk  

(B) fuDVsUFkl 

(C) fcXuksfu;k  

(D) cks,jgkfo;k  

83. Which one is a function of 

Pericycle in roots? 

(A)   Formation of cambium  

(B) Formation of roots  

(C) Formation of Cortex  

(D) Formation of Primary xylem  

 83. tM+ksa esa isjhlkbfdy dk dk;Z dkSu&lk gS\ 

(A) dSfEc;e dk fuekZ.k 

(B) tM+ksa dk fuekZ.k  

(C) izkarLFkk dk xBu  

(D) izkFkfed tkbye dk fuekZ.k  

84. How many types of Morphotypes 

of permanent cells exist in plants?  

(A)   2 

(B) 4 

(C) 8 

(D) 16 

 84. ikniksa esa LFkk;h dksf’kdkvksa ds fdrus izdkj 

ds :id gksrs gSa\ 

(A)   2 

(B) 4 

(C) 8 

(D) 16 
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85. How many types of lateral 

meristems functions in secondary 

growth? 

(A)   1 

(B) 2 

(C) 3 

(D) 4 

 85. f}rh;d òf) esa fdrus izdkj ds ik’oZ 

foHkT;ksrd dk;Z djrs gS\ 

(A)   1 

(B) 2 

(C) 3 

(D) 4 

86. If the vascular bundles are 
arranged in a ring, the stele would 
be a? 
(A)   Solenostele  
(B) Atactostele  
(C) Dictyostele  
(D) Eustele  

 86. ;fn laoguh caMyksa dks ,d oy; esa 

O;ofLFkr gksrs gS] rks jaeHkk gksxk\ 

(A) lksysuksLVsy  

(B) ,VkDVksLVsy  

(C) fMfDV;ksLVsy  

(D) ;wLVsy  

87. How many numbers of steles 

present in a typical dicot stem? 

(A)   1 

(B) 6 

(C) 8 

(D) Many 

 87. ,d fof’k”V f}chti=h rus esa fdrus la[;k 

esa jaeHkk ekStwn gksrs gSa\ 

(A)   1 

(B) 6 

(C) 8 

(D) vusd  

88. In which plant ‘winged petiole’ is 

found ? 

(A)   Nerium  

(B) Guava 

(C) Lemon  

(D) Betel  

 88. fdl ikS/ks esa *ia[kksa okyk ijukoàr* ik;k tkrk 

gS\ 

(A) usfj;e  

(B) ve:n  

(C) uhacw 

(D) iku 
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89. Spadix inflorescence is found in 

which plant? 

(A)   Mustard 

(B) Salix 

(C) Mimosa  

(D) Maize  

 89. LikfMDl iq”iØe fdl ikS/ks esa ik;k tkrk 

gS\ 

(A) ljlksa 

(B) lsfyDl 

(C) NqbZ eqbZ 

(D) eDdk  

90. Which one is an example of 

‘caryopsis’? 

(A)   Wheat  

(B) Maize  

(C) Magnolia 

(D) Mustard 

 90. *dSfj;ksfIll* dk mnkgj.k dkSu&lk gS\ 

(A) xsgw¡ 

(B) eDdk  

(C) eSxuksfy;k  

(D) ljlksa 

91. Integumented Megasporangium is 

termed as what? 

(A)   Seed 

(B) Ovule   

(C) Locule  

(D) Ovary  

 91. esxkLiksjSafx;e dks D;k dgk tkrk gS\ 

(A) cht  

(B) chtkaM 

(C) yksdqys  

(D) vaMk’k;  

92. Hypanthium is present in which 

type of flower? 

(A)   Hypogynous  

(B) Perigynous  

(C) Epigynous  

(D) Epihypogynous  

 92. gkbiafFk;e fdl izdkj ds Qwy esa ekStwn 

gksrk gS\ 

(A) gkbiksxkbul  

(B) isfjfxul 

(C) ,fifxul  

(D) ,figkiksfxul  
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93. Another dehiscence through a pore 
covered by a flap is termed as 
what? 
(A)   Longitudinal  
(B) Poricidal  
(C) Transverse  
(D) Valvular  

 93. ,d izkyac ls <ds jksefNnz ds ek/;e ls 

ijkxdks’k dk folaØe.k D;k dgykrk gS\ 

(A) vuqnS/;Z 

(B) iksjhlkbMy  

(C) vkM+k  

(D) okYoqyj  

94. The Perigonium is referred to 

which? 

(A)   Perianth  

(B) Calyx  

(C) Corolla  

(D) Epicalyx  

 94. isfjxksfu;e dks fdlls lanfHkZr fd;k tkrk 

gS\ 

(A) isfj;UFk 

(B) dsyhDl 

(C) dksjksyk  

(D) ,fidSfyDl  

95. Which one is not a characteristic 

feature of Euphyll? 

(A)   Marginal Growth  

(B) Apical Growth  

(C) Intercalary Growth 

(D) Leaf gap 

 95. lR;iÙkk dk dkSu&lk vfHky{kf.d y{k.k 

ugha gS\ 

(A) lhekar òf) 

(B) f’k[kj fodkl  

(C) baVjdSysjh xzksFk 

(D) yhQ xSi  

96. A swollen base of a petiole is 

termed as what? 

(A)   Hastula  

(B) Ligule  

(C) Ocrea 

(D) Pulvinus  

 96. isVhvksy ds lwts gq, vk/kkj dks D;k dgk 

tkrk gS\ 

(A) gLrqyk  

(B) fyxqys  

(C) vksdfj;k 

(D) ifYoul 
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97. Coarsely fibrous bark is termed as 
what? 
(A)   Plated  
(B) Fissured  
(C) Smooth  
(D) Shreddy 

 97. eksVs js’ksnkj Nky dks D;k dgrs gSa\ 

(A) IysVsM 

(B) fQ’kMZ 

(C) fuckZ/k  

(D) JsMh 

98. A habit in which the stem is 

creeping or lying flat but rooting at 

nodes are termed as what? 

(A)   Prostrate  

(B) Repent  

(C) Decumbent  

(D) Cespitose  

 98. ,d izofŸk ftlesa ruk jasx jgk gS ;k likV 

iM+k gqvk gS ysfdu uksM~l ij tM+ mRiUu 

dj jgk gS] mls D;k dgk tkrk gS\ 

(A) izksLVªsV  

(B) jhisaV 

(C) MsdqEcsuV 

(D) lsfLiVkst 

99. ‘Stolon’ is a modification of which 

part of plant? 

(A)   Leaf  

(B) Root 

(C) Stem  

(D) None of these  

 99. *LVksyu* ikS/ks ds fdl Hkkx dk la’kks/ku gS\ 

(A) iŸkk 

(B) tM+ 

(C) ruk  

(D) buesa ls dksbZ ugha  

100. Which kind of fossil is used to 
determine geologic time period? 
(A)   Nano Fossils 
(B) Micro Fossils  
(C) Index Fossils 
(D) Molecular Fossils  

 100. Hkw&xfHkZd le; vof/k fu/kkZfjr djus ds fy, 

fdl izdkj ds thok’e dk mi;ksx fd;k 

tkrk gS\ 

(A) uSuks thok’e 

(B) lw{e thok’e  

(C) lwpdkad thok’e  

(D) vk.kfod thok’e 

****** 
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DO NOT OPEN THE QUESTION BOOKLET UNTIL ASKED TO DO SO 

1. Examinee should enter his / her roll number, subject and Question Booklet 

Series correctly in the O.M.R. sheet, the examinee will be responsible for 

the error he / she has made. 

2. This Question Booklet contains 100 questions, out of which only 75 

Question are to be Answered by the examinee. Every question has 4 

options and only one of them is correct. The answer which seems 

correct to you, darken that option number in your Answer Booklet 

(O.M.R ANSWER SHEET) completely with black or blue ball point 

pen. If any examinee will mark more than one answer of a particular 

question, then the answer will be marked as wrong.    

3. Every question has same  marks. Every question you attempt correctly, 

marks will be given according to that. 

4. Every answer should be marked only on Answer Booklet (O.M.R 

ANSWER SHEET).Answer marked anywhere else other than the 

determined place will not be considered valid. 

5. Please read all the instructions carefully before attempting anything on 

Answer Booklet(O.M.R ANSWER SHEET). 

6. After completion of examination, please hand over the O.M.R. SHEET to 

the Examiner before leaving the examination room.   

7. There is no negative marking. 

Note: On opening the question booklet, first check that all the pages of the 

question booklet are printed properly in case there is an issue please ask the 

examiner to change the booklet of same series and get another one. 

 


